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Question Paper Specific Instructions
Please read each of the following instructions carefully before aftemnpting questions :
There are EIGHT questwns dwtded in TWO SECTIONS and prmted both in HINDI aud in
ENGLISH.
Candidate has to attempt FIVE questwns in all
Questions no. 1 and 5 are compulsory and out of the remammg, TIH{EE are to be attempted
choosmg at least ONE from each section.
The number. of marks carried by a question [ part is Lndzcated against i,
Answers must be written in the medium authorized in the Admission Certificate which. must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space pmutded No
marks will be given for answers written in a medium other. than the authonzed one.

Word limit in questions, wherever speczﬁed should be adhered to.

Graph/illustrations, wherever requ:.red may be drawnlgwen in the space promded for answenng"
the question itself.

Attempts of questions shall be counted in chronological order Unless struck oﬁ" attempt of a -’

question shall be counted even if attempted partly. Any page or portion of the page left blank in the

Questwn cum-Answer Booklet must be clearly struck off.
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SECTION A

QL ﬁw\%lﬁaaﬁ%maﬂmwmmwffaﬁﬁq |
Answer the following in about 150 words each : " 10%5=50.

(a) uﬁwmw%ﬁm m@tm(uﬁ)%ﬁmaﬁ%ﬁ%ﬁamuaﬂ
wteror i |

Examine the relationship between own and cross price elast1c1t1es for a
compensated demand function. - : o ‘ 10

) T Y ) T i |
- Explain H-theory of money supply. ' 10
(o) orioEE H, wﬁwﬁmg@%@ aﬂﬁmaﬂxvﬁmﬁﬂm
v 3 e v B

Differentiate between the complete, partial and zero crowding out effect
of a given increase in government expenditure in an economy. 10

@ R i e ¥ sl i SR ¥ e A g 7
_Waﬁaﬁ@@mﬁvﬂwmmmaﬂtqﬁaﬁ%ﬁﬁ
3R gt & |

"What do you mean by e:ustence and uniqueness of equﬂlbrlum ina
market ? Examine these concepts in a market where both demand and

supply curves are downward sloping. - L 10
(e) ol < fianmd i T HivT | | -
Explain the paradox of thrift. o 10

Q2. (a) WWWWWW%W(W)WW@
ﬁmtmﬁ@nmmmmaﬂtﬁaﬁﬁﬁﬁm |
fofcwdi e o S
Discuss the cobweb model of dyna:mc equlllbrmm with lagged

-adjustment. Explain how the existence of a stable equilibrium depends
on the nature of the demand and supply curves. - : 20

- (b) Wﬁm%ﬁmwﬁﬂﬂﬁ@%sﬁﬁwﬁﬁﬁw%ﬁ
o1 faerper off TewEd A} 7 e wwdw g SR W
ﬁaﬁ%tﬂéﬂﬁﬁmw%?

“Monetarists are of the view that only money matters and Keynesians
_believe that money does not matter at all.” What is the reasomng behind
these extreme views he]d by their protagonists ? .20
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Q3- (a) M

g YHT P IR F IS § G B TR 2

What do you understand by shlftmg of a tax 2 How does a monopolist
succeed in shiﬂ;ing the burden of a ta'x under increasing marginal cost ?

'maﬂ%mmﬁwmﬁévaﬁmxﬁnmm%m@ﬁ%mﬂ' |

10 .

20

20 |

- 10

20

10

aﬁ@’r%;mwnﬁ maﬁmmﬁ%ﬁmﬁﬂmﬁmaﬁzma
e % fufon @ wgfa ofeddd & oo w1
" Explain with appropnate assumptions, the detenmnatwn of equilibrium
income and interest rate in a Keynes:an model of ‘goods and money
markets through diagrams..
(b) ﬂwﬁﬁwﬁ.&mww@%mmqﬂmm‘_t_m e
A f w1 Frowon frm gow fnar o g 2 2
" Examine the process of reachmg the Ricardian steady state. How can
the tendency towards steady state be countered ?- .
© "%ﬁma@waﬁméaﬂt@%ﬁ%mme
e g, ?ﬁgwm(am) a&aﬁtﬂwmm%ﬁwmam
2”7 e A 1 4
“The conyentional analysis of profit’ max1m15at10n ‘breaks’ down if the
‘entrepreneur sells his output and possesses a productlon function which
.is homogenous of degree one.” Explain.
Q4. @ ww"ﬁmw%mwﬁﬁq :wé?%zaﬁzéﬁzmﬁ%a it
IEM Y G TE RBAWE AL ?
Compare the deposit multiplier with money mu]tlpher Is there any
impact on money multlpher arising out' of massive use of credit and .
_ debitcards? -
) - mﬁmaﬂtmmmaﬁq@@ﬁﬁmm%ﬁﬁam&aﬁ
- STy
Compare the various mstruments of monetary pohcy with reSpect to -
influencing the cost and availability of credit. - © w20
© T foem 6 51 Pt (veew) 2, W ==t DR 1
" Discuss the classical dichotomy that money is neutral.
C-DRN-N-GDPA _ : 3 -



Q5. ﬁmﬁ%ﬁﬁﬁmﬁmmw 1503@1}1-‘;‘1@
" Answer the followmg in about 150 words each :

'(aj,

®)

(c)

{d)
(e)

Q6. (a)

Wig B
SECTIONB

‘FHE TF@T Eﬁrwmim%?%sﬁtrg%m g R aﬂ?ﬁ%#i@

- forg T e i R 7 .
What is meant by ‘factor abundance’ ? How does it affect the shape of

the production frontier of a natmn ?

% ferean foma s wehatl 3 2 ToE AR )

Can Kuznéts' hypothesis of- inverted-U curve be ext,ended to
envuonmental degradatmn ? Explain. :

e ﬁtmaﬁm%aﬁﬁ aggﬁaeiaamnamwwsﬁ%?

What do you understand by a small open economy in the cont.ext of both
goods and money markets ?

VWWWWSH‘TT} maﬁaﬁ%ﬁiﬁm (PPP)a?crﬂﬁ

arafs fidl 61 gen & for, sifes Tl v e |

Point out the critical elements in typical Pubhc-Private Partnership.

(PPP) agreements in the infrastructure pro;ects to safeguard the
interests of the public.:

fordl 2 29 g, Y IR W, wﬁmaﬁ@m%wﬁaﬁﬁa%%.

AifTer TreTaee w1 faveror ifer

Analyse the partial equilibrium effects of a tariff 1mposed by a large
country on its imports in terms of consumers’ surplus.

“sgusfia SR awial & A 9w F o W % I, AR e FW,

A T SR Gt B ¥R T 3 T 8 A AR , mRe
UK R (RTAs), wﬂ'c:r{%shﬁ @Wmﬁ%mﬁm%{m

’%l”maﬁﬁm

“With the Doha Round of multﬂateral trade talks stalled, reglonal trade
'agreements (RTAs) have emerged as an alternative approach to increase
trade, spur stronger economic growth and lower unemployment rates in

 the participating countries.” Explain.

C-DRN-N-GDPA g

10x5-50 ‘
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T YR, aﬁsﬁ%‘gaﬁ-ﬁﬁzﬂaﬁqﬁwmwmvﬁaﬁnﬂm_'
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b)  “Pm % weu % w0 ¥, Frew 1 dgi Fafs TR & R, 7 e agem
i e Sifim win % oft SET B aEE € 17 o AR F T T T
_ ﬁﬁ%ﬂéﬁﬁ%%ﬁmﬁzﬁaﬁm%ﬁaﬁﬁmﬂmmsﬁ
'ﬁaﬁ%mﬁ%mﬁsmmaﬁﬁaﬁm%mﬁzl

“Balanced growth strategy of development in terms of pattern of
investment has to be in conformlty not only with derived demands but
final demands as well.” Argue whether this statement is about avoiding
bottlenecks- for- certain- sectors and - excess capdcities in others or

. promoting import substitution. ' a o 20

(c) a%amawﬁq%mﬁ ga:rrqa;amaaméﬁ auﬁ%%mqy{
ﬁﬁww@m|meﬁﬁq%aé¥ﬁ maﬂtq\%ﬁ é:f%mamzﬁuﬁi
ﬁémﬁmww% |

. Y qﬁ:
e (form)/m e 06 03
H ()M . 04 - 02

waa@%mmmﬂwaﬂa@'ﬂ ﬂﬁﬁhﬂ’lwmﬁ
ﬁwﬁs‘rﬂw'{yf@mmqﬁl '

Explain the conditions under which complete specialisation will be
- possible for two nations in case of compa:"ative advé\ntage Suppose
productmty per unit of labour for two nations, Indm and UK, is glven as

‘India- UK
Wheat (kglmanhour 06 . 03

Cloth (yardYmanhour . | 04 - 02

Will mutually’ beneficial trade be poss1b1e for the two nations ? If yes,
explain whether specialisation. shall be complet.e or not.. : _ 10.
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Q7. (a}

(b)

(0

Q8. (a)

(b)

(c)

ww%%%mﬁmﬁﬁwmmﬂﬁ%&ﬂgﬁw%gm

e 3R g o P T sl B # 2 o g o ol R f feeh

TE1 SFAR WG A WA s gy
Why is it that in a pure flexible exchange rate system, foreign exchange

market has no direct effects on the monetary base and money supply ?

' Does this méan that the foreign exchange market has no effect on the

monetary policy 7 : .
SR 6 T 3R Rewre e ¥ 9 e ifvu | wwee i i
a@mﬁmﬁﬁwmﬁmm%mmm
Distinguish between single and double factor terms of trade. Explain
how far terms of trade of a developing économy would change with

. technological advancement and economic growth.

20

20

wll R W ® GaaT, e wed’ ofi ‘ol d@afe Fw A

i fn R |7 3 A e TR W e @ TR R 2

TP S % v e AR ) R

_ Our development strétegy has been proposed in terms of ‘faster’, ‘more

inclusive’ and ‘sustainable’ growth. Do the three components sit together.
well ? Argue for your-answer. '

e e gEEE (HDD) % Futo ¥ fe 1@ A d. (UNDP) g R

10

fpu o T fofir e 1 ao iR | o @ R R, e

3, e weiew Saw SR sRs o w @ ew] R S E 2

Describe the different indicators that are used by UNDP to construct the

Human Dévelopment Index (HDI). Why is a logarithmic transformation

. applied only to per capita income in the calculation of HDI ? |
“agga frm 30§ T & e, e o e & R
W@'Wﬁwﬁ%mmﬁﬁm‘m'm%]”wm L

“Apart from bringing capital into a country, multinational corporations

" provide many other advantages that cannot be obtained by borrowing -

from international capital market.” Discuss. ~ = '
fivs TR GE (WTO) % ST S fEw 3l (TRIMs) 9 &2
£ | 39% Ty § FLE T R WM R E?

‘Explain  the Trade Related Investment Measures (TRIMs) of World

Trade Organisation (WTO). What are the major debates relating to it ?
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